FHER

S10NPOId WSISAS B i~NISI\”

BB\ A AN (J=F) ATF—Y / T—=T VY4 X 100%x100
Motorized Swivel (Tilt) Stages / Table Size 100x100

letasnpu

@
s h
@
3
g
<X 5
%X
<0 B
5
A
=
8
4
NZ Z
2 SA10A-RT SA10A-RB SA10A-RS
2 SA10A-RM SA10A-RL
®
£
%’ CW Limit Sensor 8M3 Depth 8mm
= Home Position
CCW Limit Sensor 8M4 Depth 6mm
s Index
R
s e i :
02 3 s ¥ e
= 1 4 I
3~ S | &
=p/% glglgl g oL el_|M S— &
2Z S| o @ % @I \ ] —
= g m IO VY R 5 o
= o i o [ o
o - -
9 30
S 130 |
g 40 ©6 Depth 8mm 60
90
i (195) 100 (138.5)
i (258)
7|_ Rotation Center Rotation Center "\ Rotation Center
>
. 5 . .
3 ow | cow 2 @
E ~ - Q
@ ol SR B 4T M oW | cow = -
& : — ©
] N bt = il ‘—7: ow | cow =
4-for M4 screws/ 190 il ol ® T °© S
g Shaft length 6mm 5 8 mewwrm : I
] 0 i |
= o SA10A-RT = 4-for M4 screws/“ [0 —4 ® e ™ wa e |
=) Shaft length 6mm g ™ ﬁww d ‘
@ SAL0A-RM ksl 4-for M4 screws/ [J90 b
Shaft length 6mm @
B @ SA10A-RB 8
1 i i
= 0 I
d ] (TN = .
=S
ﬂ_{* - - fﬁB} P o =
ol et ik : %
* | 4 .
g i ol - 3
=1 L] ] 7 0
<= H T f
5 + +
= = U‘Eéﬁ 4-for M4 screws
) ] P Shaft length 6Bmm
o P g (19.5) 100 (138.5)
“’ Sl (258)
% g iﬁ'J Rotation Center Rotation Center
g 2 i
£
S 8
cw |cew @ 3
~ 0] |
g
z7 3 s | gl TLEH
57 R e = ow | cow
¢ % t t b — | = o]
) X 13|
5 U ® @ eI E{ 0 4’ 1 e
! e 8 @ i WWWM%\ =
2 2 @ e i
o5 g </ @ SA10A-RS ® { o @69@ o
a o 8
Sh=2 o @ SA10A-RL
N

K-018 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail]e-sale@kohzu.co.jp [URL]http://www.kohzuprecision.com



MR

5}
o
=

@

@
=1
Ik

PNV /o0AO0=FHAK / 93—=LE&IA—=LFKSL =

Aluminum Body / Cross-Roller Guide / Worm and Worm Wheel

4
2
T
N
£
[=]
an
(2
<
@
a8
[
=
Rt
5]
a
=
=
@

=S
ETE 3B
M SA10A-RT SA10A-RM SA10A-RB SA10A-RS 1 SA10A-RL 2 = A
odel Number g
BFEOER g
Mirror Model Number ~ B
F—7)VE
Table Size 100mmX100mm g =< X
RHHR WE/OAO—SHAK m 2%
Guide Mechanism Cross-Roller Guide %
[E|EREE R 8 o o ° o —=
FpleT R *+10 +8 +10 +10°(RM), =8°(RB) il
EOPES TA—L8&TA— LA~ -
Lead Mechanism Worm & Worm Wheel 2 z
HEEL 320(RT) 428(RM) 5
Reduction Ratio 320 428 536 428(RM) 536(RB) g
TIW/IN=T ATV T o o o o o o 0.0022°/0.0011°(RT), | 0.00168°/0.00084°(RM), @
St s Full/Half Step 0.0022°/0.0011 0.00168°/0.00084 0.00134°/0.00067 0.00168°/0.00084°(RM) | 0.00134°/0.00067° (RB)
Resolution NAY0ATY7 (1/2058)) o o o 0.00011°(RT), 0.000084° (RM), Be]
Micro Step (1/20 div) 0:00011 0.000084 0.000067 0.000084° (RM) 0.000067° (RB) g 2
BERE 2 5 3 11°/sec(RT), 8.4°/sec (RM), g
Maximum Speed 1076z 8.4%/sec 6.7°/sec 8.4°/sec (RM) 6.7°/sec (RB) i
BELAE RO g
Repeatability
I TTAAETA 95mm=0.2mm 134mm=+0.2mm 172mme+0.2mm 95mm=0.4mm 134mm=+0.4mm e 2
ork Distance 3~
SN 3
EleReR DR (T & ©0.05mm/£10° ©0.05mm/£8° ®0.1mm/£10° ®0.1mm/£8° EZ
Rotation Center Error =]
OANE—>a> 3 7
Lost Motion =0.002 -
NyoZvsa . T
Backlash =0.001 E §
F—XUMETE . -
Moment Load Stiffness 0.02 arcsec/N-cm 0.06 arcsec/N-cm
IKIETRE
Load Capacity (Horizontal) 68.6N (7kgf) 39.2N (4kgf) —
MHE FIIE
Material Aluminum Alloy
s 3 Bt bl
Finish Clear-Matt Anodizing
BE
Weight 2.8ks 5.6ks -
e =
e E— <90°%1" 5 k=
erpendicularity ]
SHATYEVTE—E— PK566-B () IV &IE—&—: EH&EFR 0.75A/18,BEARTYT7H 0.72°, U—R#104K)
5 Phase Stepper Motor PK566-B (Oriental Motor: Phase Current 0.75A, Basic Step Angle 0.72°, 10-Leads)
mESrd 20> (eO+t: PC-1620, P-1620A-STA)
Connector 20Pin Rectangular (Hirose: PC-1620, P-1620A-STA) %7
RAF—IRREAT |, :
Stage Wiring Type o X1 =l
> Fidl k=
R F-101(HOME,LIMIT), F-107(INDEX)
ensor Model
it
Price(JPY) ¥210,000 ¥225,000 ¥420,000 ¥435,000 % ;
5o
F—N—FK—IE ~ ~ 5
Gzt Pz > © ¥42,000 ¥84,000 <
JU— DRSS 2
Clean Room Lubricant Change Price ¥30.000 ¥60.000 L
HZ2 ) AR E
Vacuum Lubricant Change Price ~ ¥30.000 ¥60.000 ?;’ %
ARE—2—%pE N N SZ
Same Size Motor Change Price #10 el Rl 1%} 7|_
QD S
RRE—S—SHBE N ~ &
Different Size Motor Change Price 2 ¥36.000 ¥72,000
%1 SA10A-RSi&. SA10A-RTESA10A-RMOFEAEHETT ., F—N—FR—IBICRBRRIFEFNELA. FHHICOVTIIEA-D% uel|
=" Combination of SAT0A-RT and SA10A-RM form 2-axes swivel stage model %7 BRBLTTFX0, 83
SA10ARS. ) Additional parts cost is not included on Overhaul cost. Refer to page 16 for § S &
so SA10A-RLIE. SA10A-RMESA10A-RBOMAEDETY. further information. = ®
““  Combination of SAL0A-RM and SA10A-RB form 2-axes swivel stage model 1) =200 ZEHROBRKRIEKEIC -C” HHEFET. FEMICDOVWTIE
SA10ARL. g CO0SN—=JZBRLTFSLN.
%3 BEFEL. EROMBFICOVTIEK-005XR—2 BB LTTFELY, ! Clean room lubricant model has “-C” at the end of model number. Page C-005
) Refer to page K-005 for Information on Standard and Mirror Symmetry for further information. 7
Configuration. HEY U AEBOBREREL V" SHEET, FBIOVTIEC-005X §7
wa AT—SORBEEN—TAF YT TI>THVET, wg —YEBBLTFEL, 5%
) Stage is inspected by half step setting. Vacuum lubricant model has “-V" at the end of model number. Page C-005 for = ]
w5 ATNWATF—IBEOE—X> MIEEO—LBIEERYET. further information. ‘ A
“*~ Moment Stiffness of single swivel stage is measured in Roll Direction. %10 E—R—HROFMIC DN TIEC-004X—U BB L TTEL,
%6 AT —IAERBDOFEAIC DUV TIEN-032,N-034% BB L TT XL, : Page C-004 for further information about motor change. —
) Refer to page N-032,N-034 for stage wiring connection information. ‘%’ é g
o MIETBE—8 =32 hO—F - K5/ TEN-002R—VEBRLTTEL, © 77 EF VIOV TIZO-00IN—VEBRL TFEL, 38
Refer to page N-002 for information on corresponding motor controller and driver. Refer to page 0-001 for information on accessory. g é
MY BE—R—T—TICDVTIEN-01BRN—=UZBR L TT X, PERODIELICKYRRDZED AV ET, FHLBEFBETHHOEDETEL. L
Refer to page N-018 for information on corresponding motor cable. We appreciate the product customizing. Contact us for further information.
K-019

HEVAEDEIETEL:044-981-2131,/FAX:044-981-2181

[E-mail] sale@kohzu.co.jp [URL]http://www.kohzu.co.jp



